Micros()= 4294967185; Period= 41; Cycle=1; Overflows=0.

FLProg Function Returned= false;
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 4294967196; Period= 41; Cycle=2; Overflows=0.

FLProg Function Returned= false;
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 4294967207; Period= 41; Cycle=3; Overflows=0.

FLProg Function Returned= false;
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 4294967218; Period= 41; Cycle=4; Overflows=0.

FLProg Function Returned= true;
Next FLProg event must be occurred at: 4294967259
Sancho Function Returned= true;
Next Sancho event must be occurred at: 4294967259
Labu55 Function Returned= true;
Next Labu55 event must be occurred at: 4294967259

Micros()= 4294967229; Period= 41; Cycle=5; Overflows=0.

FLProg Function Returned= false;
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 4294967240; Period= 41; Cycle=6; Overflows=0.

FLProg Function Returned= false;
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 4294967251; Period= 41; Cycle=7; Overflows=0.

FLProg Function Returned= false;
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 4294967262; Period= 41; Cycle=8; Overflows=0.

FLProg Function Returned= true;
Next FLProg event must be occurred at: 7.
Sancho Function Returned= true;
Next Sancho event must be occurred at: 7
Labu55 Function Returned= true;
Next Labu55 event must be occurred at: 7

Micros()= 4294967273; Period= 41; Cycle=9; Overflows=0.

FLProg Function Returned= true;
Next FLProg event must be occurred at: 18
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 4294967284; Period= 41; Cycle=10; Overflows=0.

FLProg Function Returned= true;
Next FLProg event must be occurred at: 29
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 4294967295; Period= 41; Cycle=11; Overflows=0.

FLProg Function Returned= true;
Next FLProg event must be occurred at: 40
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 10; Period= 41; Cycle=12; Overflows= 1.

FLProg Function Returned= false;

Sancho Function Returned= true;

Next Sancho event must be occurred at: 51
Labu55 Function Returned= true;

Next Labu55 event must be occurred at: 51

Micros()= 21; Period= 41; Cycle=13; Overflows= 1.

FLProg Function Returned= false;
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 32; Period= 41; Cycle=14; Overflows= 1.

FLProg Function Returned= false;
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 43; Period= 41; Cycle=15; Overflows= 1.

FLProg Function Returned= true;
Next FLProg event must be occurred at: 84
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 54; Period= 41; Cycle=16; Overflows= 1.

FLProg Function Returned= false;

Sancho Function Returned= true;

Next Sancho event must be occurred at: 95
Labu55 Function Returned= true;

Next Labu55 event must be occurred at: 95

Micros()= 65; Period= 41; Cycle=17; Overflows= 1.

FLProg Function Returned= false;
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 4294967186; Period= 41; Cycle=1; Overflows=0.

FLProg Function Returned= false;
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 4294967197; Period= 41; Cycle=2; Overflows=0.

FLProg Function Returned= false;
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 4294967208; Period= 41; Cycle=3; Overflows=0.

FLProg Function Returned= false;
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 4294967219; Period= 41; Cycle=4; Overflows=0.

FLProg Function Returned= true;
Next FLProg event must be occurred at: 4294967260
Sancho Function Returned= true;
Next Sancho event must be occurred at: 4294967260
Labub55 Function Returned= true;
Next Labu55 event must be occurred at: 4294967260

Micros()= 4294967230; Period= 41; Cycle=5; Overflows=0.

FLProg Function Returned= false;
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 4294967241; Period= 41; Cycle=6; Overflows=0.

FLProg Function Returned= false;
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 4294967252; Period= 41; Cycle=7; Overflows=0.

FLProg Function Returned= false;
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 4294967263; Period= 41; Cycle=8; Overflows=0.

FLProg Function Returned= true;
Next FLProg event must be occurred at: 8
Sancho Function Returned= true;
Next Sancho event must be occurred at: 8
Labu55 Function Returned= true;
Next Labu55 event must be occurred at: 8

Micros()= 4294967274; Period= 41; Cycle=9; Overflows=0.

FLProg Function Returned= true;
Next FLProg event must be occurred at: 19
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 4294967285; Period= 41; Cycle= 10; Overflows= 0.

FLProg Function Returned= true;
Next FLProg event must be occurred at: 30
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 0; Period= 41; Cycle=11; Overflows= 1.

FLProg Function Returned= false;
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 11; Period= 41; Cycle=12; Overflows= 1.

FLProg Function Returned= false;

Sancho Function Returned= true;

Next Sancho event must be occurred at: 52
Labu55 Function Returned= true;

Next Labu55 event must be occurred at: 52

Micros()= 22; Period= 41; Cycle=13; Overflows=1.

FLProg Function Returned= false;
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 33; Period= 41; Cycle=14; Overflows= 1.

FLProg Function Returned= false;
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 44; Period= 41; Cycle=15; Overflows= 1.

FLProg Function Returned= false;
Sancho Function Returned= false;
Labu55 Function Returned= false;

Micros()= 55; Period= 41; Cycle=16; Overflows= 1.

FLProg Function Returned= true
Next FLProg event must be occurred at: 96
Sancho Function Returned= true;
Next Sancho event must be occurred at: 96
Labu55 Function Returned= true;
Next Labu55 event must be occurred at: 96

Micros()= 66; Period= 41; Cycle=17; Overflows= 1.

FLProg Function Returned= false;
Sancho Function Returned= false;
Labu55 Function Returned= false;



